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Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions.

Câu 1: 
A. inhabitant
B. situation
C. particular
D. diversity
Câu 2: 
A. notices
B. languages
C. expresses
D. improves
Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of primary stress in each of the following questions.

Câu 3: 
A. diverse
B. climate
C. fertile
D. damage
Câu 4: 
A. promotion
B. powerful
C. equipment 
D. athletics
Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.
Câu 5: If I had time, I ......... shopping with you.


A. have gone
B. went
C. would go
D. will go
Câu 6: Man has witnessed many significant …….. of science and technology in the past few decades.


A. achievements
B. achievers
C. achieves
D. achieved
Câu 7: The national flag was ......... when the winner’s name was announced.


A. lifted  
B. risen 
C. set
D. raised 
Câu 8: Marcela didn't come to class yesterday. She ......... an accident.


A. may have had
B. should have had
C. must have
D. might have
Câu 9: They had to ......... their trip because of the bad weather.

A. carry out 
B. put off
C. go off 
D. look after
Câu 10: That ......... boy often plays tricks on his friends.


A. mischievous
B. well-behaved 
C. obedient 
D. honest 
Câu 11: In the past, women were economically ......... on their husbands or fathers.

A. reliable
B. demanded
C. expected
D. dependent
Câu 12: You’ ve got a car, .........?


A. do you
B. don’t you
C. haven’t you
D. have you
Câu 13: The group leader prevented his members ......... .


A. to going on
B. to go on
C. from going on
D. going on
Câu 14: Nowadays many Vietnamese people object ......... a contractual marriage.


A. for
B. to
C. about
D. with
Câu 15: When we arrived at the station, the train ......... .

A. left
B. will leave
C. has left
D. had left
Câu 16: The meeting took almost five hours so it was impossible to ......... attention all the time.


A. give
B. pay
C. have
D. make
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.

Câu 17: The government decided to pull down the old building after asking the ideas from the local residents.

A. renovate
B. purchase
C. demolish
D. maintain
Câu 18: The repeated commercials on TV distract many viewers from watching their favourite films.


A. contests
B. economics
C. businesses
D. advertisements
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.

Câu 19: Many people feel nervous when they first make a speech in public.

A. fearful
B. impressed
C. upset
D. confident
Câu 20: When he passes the entrance exam, his parents will be walking on air.


A. extremely light
B. feeling extremely airy

C. feeling extremely unhappy
D. extremely happy
Mark the letter A, B, C, or D on your answer sheet to indicate the most suitable response to complete each of the following exchanges.
Câu 21: Two friends Jane and Thomas are talking about their final term test.

Jane: “I’ve been half ready for the final term test.” 
Thomas: “.........”


A. You are welcome.
B. Thank you so much.

C. Then, I’d call it a day.
D. Incredible! I haven’t even started.
Câu 22: Ken and Tom are high-school students. They are discussing where their study group will meet. 

Ken: “Where is our study group going to meet next weekend?” 

Tom: “ ......... ”


A. Why don’t you look at the atlas?
B. We are too busy on weekdays.

C. Studying in a group is great fun.
D. The library would be best.
Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions.
Câu 23: The notion that students are not sufficiently involved in their education is one reason
                     A                                                                    B 

for the recently surge of support for undergraduate research.
               C                             D 

Câu 24: The computer-based tests will test your ability to understand spoken English, to read
                                                             A                                                    B 

 non technical language, and writing correctly.
          C                                       D 

Câu 25: Only when I studied abroad, I realized that my family played an important role in my life.
                                        A                        B                                    C                                  D 

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks from 26 to 30.

What is the most popular sport in the world? Most people would probably say soccer, because of the many millions who play it and the even __( 26 )__ number who watch it on television. There are some, however, who say the correct answer is basketball - not because of its TV audience, __( 27 )__ is certainly smaller than that for soccer, but because the number of people who regularly play the game might be higher (at least 300 million, according to most estimates).
In China, for example, which has a __( 28 )__ of 1.3 billion, more people play basketball than soccer, and it is becoming more popular all the time. Basketball has existed for less time than some of the world’s other major sports. It was __( 29 )__ in the early 1890s by a Canadian, James Naismith, working at a college in the state of Massachusetts in the United States. Wanting to create a game that could be played indoors __( 30 )__ the long winters but would also be active enough to keep people in shape, he had the idea of two teams of players trying to throw a ball into a basket that was above their heads.
Câu 26: 
A. smaller
B. taller
C. larger 
D. longer 
Câu 27: 
A. where
B. who
C. which
D. that
Câu 28: 
A. population
B. generation
C. calculation
D. nation
Câu 29: 
A. discovered
B. invented
C. surveyed
D. recorded
Câu 30: 
A. within
B. along
C. among
D. during
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 31 to 37.
The greatest recent social changes have been in the lives of women. During the past decades there has been a remarkable shortening of the proportion of a woman’s life spent in caring for children. A woman marrying at the middle of the 20th century would probably have been in her early twenties, and would be likely to have seven or eight children, several of whom lived till they were only five years old. By the time the youngest was fifteen, the mother would have been in her early fifties and would expect to live a further twenty years, during which customs, opportunities and health made it unusual for her to get paid work. Today women have fewer children. Usually a woman’s youngest child will be fifteen when she is forty-five and can be expected to live another thirty-five years, and is likely to take paid work until retirement at sixty. Even while she has the care of children, her world is lightened by household appliances and convenience foods.

This important change in women’s life-pattern has only recently begun to have its full effect on women’s economic position. Even a few years ago most girls left school at the first opportunity, and most of them took a full-time job. However, when they got married, they usually left work at once and never returned to it. Today the school-leaving age is sixteen, many girls stay at school after that age, and though women tend to marry younger, more married women stay at work at least until shortly before their first child is born. Very many more afterwards return to full- or part-time work. Such changes have led to a new relationship in marriage: with the husband accepting a greater share of the duties and satisfactions of family life, and with both husband and wife sharing equally in providing the money, and running the home, according to the abilities and interests of each of them.
Câu 31: According to the passage, it is now quite usual for women to ……… .

A. start working again later in life
B. stay at home after leaving school

C. marry while still at school
D. marry men younger than themselves
Câu 32: It is stated in the passage that in an average family in about 1950 ……… .

A. the youngest child would be fifteen

B. seven or eight children lived to be more than five

C. many children died before they lived to more than five

D. four or five children died when they were five
Câu 33: The word “which” in the first paragraph refers to ……… .


A. health
B. customs
C. twenty years
D. opportunities
Câu 34: What does the word “lightened” in the first paragraph probably mean?


A. harder
B. more fun
C. less heavy
D. brighter
Câu 35: One reason why a woman today may take a job is that she ……… .

A. need not worry about food for her children

B. can retire from family responsibilities when she reaches sixty

C. is younger when her children are old enough to look after themselves

D. does not like to have a lot of children herself
Câu 36: Nowadays, a husband tends to ……… .

A. help his wife by doing much of the housework
B. feel dissatisfied with his role in the family

C. play a greater part in looking after the children
D. take a part-time job so that he can help in the home
Câu 37: What is the main idea of this passage?

A. Women’s role in family life.
B. Women and their jobs.

C. The marriage of women: past and present.
D. The social changes in the lives of women.
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 38 to 45.

Political and family values within society have impacted upon the modern family structure. Traditionally, it has been the man’s role to be the breadwinner for the family- providing the funds to pay for food and shelter. However, due to the many new and unique responsibilities placed upon families, in numerous cases both men and women- fathers and mothers- have had to enter the workforce. Generally, the reasons for both being involved in the workforce revolve around the need to add to the family’s current financial base. To a lesser extent, the need to interact with “adults” in a stimulating work environment is another popular reason. Whatever their reasons, for many families, the decision for father and mother to go out of home and join the labour force has led to a number of side effects within the home which, in turn, impact upon their performance as employees.

Many researchers agree that attitudes towards work are carried over into family life. This spillover can be positive or negative. Positive spillover refers to the spread of satisfaction and positive stimulation at work resulting in high levels of energy and satisfaction at home. If the amount of research is to be taken as an indication, it would seem that positive spillover is not a dominant occurrence in the workplace with most research focusing on the effects of negative spillover. Often pointing out the incompatible nature of work and family life, the research focuses on problems and conflict at work which has the effect of draining and preoccupying the individual, making it difficult for him or her to participate fully in family life.

Social scientists have devised a number of theories in an attempt to explain the work-family dynamic. Compensation theory is one which has been widely used. It assumes that the relationship between work and family is negative by pointing out that high involvement in one sphere- invariably the work sphere- leads to low involvement in the other. As an individual advances within a career, demands typically fluctuate from moderate to more demanding and if the advancing worker has younger children, this shift in work responsibilities will usually manifest itself in the form of less time spent with the family. Researchers subscribing to this theory point out that the drain on family time is significantly related to work-family conflict with an escalation in conflict, as the number of families increase.

Câu 38: The main reason fathers and mothers join the workforce is ……… .

A. they need the mature interaction that goes on between adults

B. they want to escape the boring environment of home

C. they need extra money

D. they want to be able to retire comfortably
Câu 39: The word “breadwinner” is closest in meaning to ......... .

A. bread maker
B. bread
C. earner
D. winner
Câu 40: The word “draining” is closest in meaning to ......... .

A. empty
B. make somebody weaker
C. make somebody stronger
D. waste
Câu 41: The word "it" in the third paragraph refers to ......... .

A. Compensation theory
B. spillover
C. work-family
D. family life
Câu 42: The following are the reasons why the fathers and mothers both go to work EXCEPT…….. .

A. the need to work to earn money

B. the need to show the ability of working

C. the need to add to the family’s current financial base

D. the need to interact with “adults” in a stimulating work
Câu 43: The following statements are true EXCEPT……. 

A. The spread of satisfaction and positive stimulation at work result in high levels of energy and satisfaction at home.

B. The advancing worker who has younger children spends more time with the family.

C. On the past, man earned money to provide the funds to pay for food and shelter for his family.

D. The modern family structure has been affected by political and family values.
Câu 44: According to the passage, positive spillover ......... .

A. is only a positive attitude toward work

B. assumes that the relationship between work and family is negative

C. refers to the spread of satisfaction at work resulting in high levels of satisfaction at home

D. is the conflict at work
Câu 45: What is the main focus of this passage?

A. Positive attitude to work

B. Relationships between family and job satisfaction

C. Relationships between work itself and job satisfaction

D. Roles of husbands in a family
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions.
Câu 46: Emily didn’t receive a scholarship. Emily is a good student.

A. Though a good student, but Emily didn't receive a scholarship.

B. She didn't receive a scholarship as Emily is a good student.

C. Emily didn't receive a scholarship unless she is a good student.

D. Despite being a good student, Emily didn't receive a scholarship.
Câu 47: The fire-fighters made every effort to put off the flames. The building burned down completely.

A. Since the fire-fighters made every effort to put off the flames, the building burned down completely.

B. Had it not been for the fire-fighters’ every effort, the building would have burned down completely.

C. The building burned down completely though the fire-fighters made every effort to put off the flames.

D. Making every effort to put off the flames, the fire-fighters completely burned down the building.
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following sentences.
Câu 48: When she received the exam results, she immediately phoned her mom.

A. She immediately phoned her mom that she would receive the exam results.

B. She received the exam results immediately after she phoned her mom.

C. No sooner had she phoned her mom than she received the exam results.

D. No sooner had she received the exam results than she phoned her mom.
Câu 49: People say that Vietnamese students are not well-prepared for their future jobs.

A. Vietnamese students are said not to be well-prepared for their future jobs.

B. Vietnamese students are said to be not well-prepared for their future jobs.

C. Vietnamese students say not to be well-prepared for their future jobs. 

D. Vietnamese students say to be not well-prepared for their future jobs. 
Câu 50: John speaks Chinese fluently because he used to live in China for ten years.


A. John could not speak Chinese fluently if he had not lived in China for ten years.

B. Suppose John has lived in China for ten years, he can speak Chinese fluently.

C. Unless John had lived in China for ten years, he could not have spoken Chinese fluently.

D. Provided that John lived in China for ten years, he could speak Chinese fluently.
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